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. In the figure above, PQ represents a 40-foot ladder with end P against a vertical wall and end Q on

level ground. If the ladder is slipping down the wall, what is the distance RQ at the instant when Q

is moving along the ground i— as fast as P is moving down the wall?
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39. The radius of a circle is increasing at a nonzero rate, and at a certain instant, the rate of increase in
the area of the circle is numerically equal to the rate of increase in its circumf€rence. At this o
instant, the radius of the circle 18

@ L ® L © 2 E) 2
T 2 b1

/ - &
A. = C, A=TUr C’-?JWA‘\




November 18, 2019




